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And not the ear of one who sells himself - ATY 97 DR TR RO

Overview

The o°no1 derive from the P10 of! A1 118 DX 1P117R ¥¥ (Which is written by 111197
7">2) that only a 7">2 171757 is ¥¥71,2 but not a Xy 731, Our Md0IN explains the need
for this exclusion.

mooin asks:
= PN 1IN 1YY 99117 SVIYNT 1IN Y NNIY 9INN ON)

And if you will say; why do we need "1IR' to exclude that a XY 922 is not Y1 -
= 3519330 NNAY 1D 90 139 PPNT Y89 139N XY 191107 N%D 19N

Let us derive this that a 3y 95 is not yx91, from the ruling that his master

cannot give him a no1yi> AW, and since he cannot have a 113 7M5w he cannot be v -
= 5532 HNY NYN NN HNANN 139¥27 (3,585 97 IPYTD

As the 74171 27 states later that in order for an 72y to be vX11 there is the requirement

that the 72y be able to say, ‘I love my wife (the n°1v1> 715w) and my children’ (which
he had from the nnow) —

NID0IN answers:
= 157 5152 1919901 999Y 29T NIY NN 129999 1IN 1IN IND INT 91210 W

And one can say; if not for the exclusion of 1218, we would have derived mxy 701

from 7''52 3711957 through the @'t of 295w 99w regarding 7yx¥1 -
$PNI) PNRT NN 1D YHWN NP Y87 NINANR NN INYUN NN ININN 9N I8N0 XDT 2) by N7

That even though the Xy 721 cannot proclaim PR DX SN27R (since 101 127 X
nwid now 17), nevertheless we would have said that he is ¥391 (on account of the
0w VoW w'");° therefore the word 13X teaches us that despite the w"ra he is not
yxA.

11,83 (o°vawn) maw.
2 yx11 is the act of boring a hole in the ear of the slave who wishes to continue serving his master after his six years
were completed.
3 The p"n on this 7Y states that by a Xy 72 his master is N°w13 Anow 2 90m X and they derive it (see X,10) from
the P09 (in 7,80 [2°wOWN] NMW) regarding 7"°2 171101 that AWK 12 10 1P117X OX, that the master may be 70w a n°avad anow
only to a 7" 171151 but not to a MXY 73M0.
41,80 (o°vown) nmw. When the 70 relates the declaration of the 72y that he wishes to remain in servitude, it prefaces
it with the declaration of the 72¥ that he loves his (new) wife (the n*1v15 arow) and their children; indicating that the
law of ¥¥11is only when he has a n°1v13 nnow.
5 Since the p"n maintains that regarding a ¥y 151 he is not given a n°1v1d 7now, which prevents him from saying
SNWR DR °n2anR, which in turn does not allow him to become a ¥¥71. We do not need the m109 of IR
6 See ‘Thinking it over’ # 2.
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Summary
If not for the exclusion of 111X, the 775w °>w w"12 would have us assume that a 0m

XY 1s ¥X¥71 despite the fact that he cannot proclaim nwX NX *N2AAX.

Thinking it over
1. Does the rule that by n°1v15 7r5w 12 901 127 PR 1YY 701, mean that the master

cannot force the ¥"v to take a n°w1d AndWw, as he can by a 7"2 ¥M1on (but he is
permitted to do so with the consent of the ¥"v), or does it mean that the ¥"v is
forbidden from taking a n°1y1> anow?’

2. moon writes that if not for 111X, we would think that a 1%y 221 is ¥¥71 (because
of the 2w %W w") even though that N°1v13 7dOW 12 70 127 PR.2 How would we
then understand the need for the 7105 to state 13 >NWX NX *nanx?’

7 See W NI AT on 2.
8 See footnote # 6.
% See nwn nbm.
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